BHARAT COCKING COAL LIMITED (A SUBSIDIARY OF COAL INDIA LIMITED) OFFICE OF THE CHIEF GENERAL MANAGER **P.O.-SUDAMDIH, DIST-DHANBAD**

Ref.:CGM(EWZ)/ACE/ Tender/F- 01,02 /11-12 / 2532-39

Dated:-30/04/11

TENDER – NOTICE

Sealed Percentage tender in Double Bid (part I and Part II) are invited from experienced and eligible contractors for taking up following works:

Sl. No.	Name of the Work	Est. amount	Earnest	Cost of tender	Time of Completion
			money	Paper	Completion
01	Repairing / Renovation of Marshaling yard at Sudamdih Coal Washery for 6 month	Rs 369656.25	Rs 3697/	Rs 250/-	6 Months
02	Raising of One side wall at Road Side Drain along Washery Boundary at SCW plant	Rs 229027.07	Rs 2291	Rs 250/-	1 Month

Availability of Tender documents form 14/05/2011 to 18/05/2011 in office working time

submission of tender on dated 19/05/11 up to 03.00 PM at Chief Manager , Civil, office Sudamdih and CISF office at Koyla Bhawan Gate

Date & time of opening tender 20/05/11 at 11.30 AM in the office of the Chief Manager (C) office at EWZ Sudamdih.

Eligibility criteria :

1 Ter ms & Condition: The tender has to fulfill the following eligibility criteria (Documentary evidence to be submitted). A Average annual financial turn over of Civil Works during the last 3 (three) years ending 31 st March of the previous financial year, should be at least 30% of the estimated cost.

B The intending tenderer must have in its name as a prime contractors experienced of having successfully completed similar works during last 7 (seven) years ending last day of Month previous to the one in which bid applications are invited (i.e. eligibility period) should be either of the following:

Three Similar completed work each costing not less than the amount equal to 40% of the estimated cost. OR

Two Similar completed work each costing not less than amount equal to 50% of the estimated cost.

OR

One similar completed work costing not less than amount equal to 80% of the estimated Cost .

- 2 The tender has to fulfill the following eligibility criteria (Documentary evidence to be submitted in support of 1(A) above in the form of certified copy of Work Order, Completion Certificate , Payment Certificate/ Vouchers etc indicating the period of work for which the payment has been made , duly signed by Competent authority. (ii) As per eligibility Criteria specified under Sl No. 1(A) Pre Qualification shall be done on experience of successfully completed works and not on Experience of works in progress
- 3. The Bid shall be submitted in three separate envelopes.

Envelope –I should contain E.M.D and the Cost of tender documents if down loaded from the website.
Envelope –II should contain Part-I of Tender documents.

Envelope –**III** should contains Part-II i.e. Price Bid.

Thereafter all the three envelopes should be submitted in One sealed envelope.

- 3 The tender documents can be had from the Office of the Chief manger (C),(EWZ)during the period mentioned above .
- 5 . Earnest Money is to be deposited with the Associates Finance in shape of Bank Draft drawn on any Nationalized Bank in favor of Bharat Coking Coal Limited Payable at Dhanbad . EMD can also be deposited in cash in the office of Cashier EWZ area office or concern washery office if possible by him as per Cash position.

6. The tenderers must submit E.M as per NIT , sales Tax clearance certificate, PAN No.of Income Tax, ,

- TIN No. and documents of work done.
- 07 . Conditional Tenders will not be accepted.

 $08\,$ Issuance of tender documents does not mean that the parties are considered qualified.

09 Issue & submission of the tender paper: Tender paper can be obtained on any working day between 10AM to 3.00PM. The request letter to be submitted during office hours in the office of the undersigned during

issue of tender period for obtaining a set of tender documents . Tender documents shall be issued to the tenderer or representative duly authorized to receive the tender documents the person. Completed tender paper duly filled in to be submitted in the tender box in the office of the undersigned or in tender Box marked for EWZ at CISF Post near Loyla Bhawan gate BCCL ,H.Q ,Dhanbad.

10 (a) Validity : The validity of Tender will be 120 days from the date of opening of Price Bid or revised Price Bid, if any.

(b)Performance security : 5% of the contract value shall have to be deposited including I EMD after acceptance of offer before work order and delay shall be to tenderer A/C only.

11Credential & Certificate : All the credential & Certificate is to be submitted in the name & Style of the tenderer firm to whom tender paper was issued. Any other form may lead to rejection of Tender.

12 The Management of B.C.C.L. re/serves right to reject any or all the tenders without assigning any reason what-so-over and to split up and distribute the work among the tenderers

13 The tenderer must submit the Affidavit in prescribed Performa in the Non Judicial Stamp paper of Rs 20/- only

14. Other details may be obtained from detailed tender notice/tender documents from BCCL website <u>http://bccl.cmpdi.co.in</u>.

15. The bidders who will downloaded the tender documents from the web-site of the company (<u>www.bccl.cmpdi.co.in</u>) will be required to pay the cost of tender paper in form of Bank Draft as per NIT at the time of submission of tenders in a separate envelope. Demand Draft to be prepared only upto the sale date of Tender documents.

16The contents of the Tender Documents available for sale in our offices, shall be deemed as authenticated and the responsibility of errors and omissions in the downloaded documents will lie with the tenderer.

Chief Manager (C)/ACE Eastern washery Zone,Sudamdih

Distribution:

01 All Area CGM's/GM's ,BCC L

02 GM (C),HQ, Koyla Bhawan

03 GM(CP)/Sr. Manager (F)/Sr. M (C),EWZ

04 P.O.(BCW,PCW,SCW)

Date of Opening of tender

05 Inspector ,CISF ,I/C Koyla Bhawan BCCL Dhanbad to please arrange receipt of tenders on due date and time in tender box of EWZ.

06 Inspector CISF (EWZ) for opening tender box on schedule date & time.

07 . Notice Board, Area office (EWZ)

08 P.R.O.: Koyla Bhawan with required copies for wide publication of the following abridge NIT in News paper as per BCCL norms.

NIT Ref No.: CGM(EWZ)/ACE/ 7	Fender/F- /11-12	Dated:-	30/04/11		
Tenders for the following two works are invited by Civil Engineering Deptt, BCCL, EWZ on behalf of					
BCCL, Management 1. Repairing / Renovation of Marshaling yard at Sudamdih Coal Washery for 6 month &					
Raising of One side wall at Road Side Drain along Washery Boundary at SCW plant					
Sl. No. Estimated Cost E	arnest Money	Cost of tender paper	Time of Completion		
01 Rs 369656.25	Rs3697/-	Rs 250/-	6 Months		
02 Rs 229027.07	Rs 2291	Rs 250/-	1 Month		
All other details i.e Estimated Cost of work, Completion period ,Cost of E.M.D etc. can be seen on Company's Website <u>http://bccl.cmdi.co.in</u> .					
The sale period for tender documents:14/05/2011 to 18/05/2011Date of Receipt of tender:on 19/05/11 from 10.00AM to 03.00 PM					

on 20/05/2011 at 11.30 AM

BHARAT COKING COAL LIMITED (A SUBSIDIARRY OF COAL INDIA LIMITED) <u>SUDAMDIH COAL WASHRERY.</u>

Departmental estimate

Estimate for the work : Repairing / Renovation of Marshaling yard at SCW.

Sl. No.	Description of work	Qty.	Rate	Amoun	t
01	Excavation of earth work to improve side Draining by lowering the cess for stabling Of tack. (CPWD Item No. 2007 P-89)	825 Cu M	Rs 101.85 per C	Cu M	Rs 63656.25
02	Lifting and packing of Rly tack with sleeper 50mm to 100 mm with proper packing and alignment of grass level etc.	4700 mtr.	Rs 50/- per Cu.M	М	Rs 235000.00
03	Dismantling and replacement of Rly track and crossing for better movement of wagons.	300 mtr	Rs 96/-per mtr		Rs28800.00
04	Dismantling and overhauling of CST9 sleeper wooden sleeper and packing.	350 Nos.	Rs 50/- per Nos		Rs 17500.00
05	Cutting of rails with hacksaw blade	85 cuts	Rs 50/-per cut		Rs 4250.00
06	Drilling holes in 90LBS rails	130	Rs 40/-per hole		Rs 5200.00
07	Transporting of old rails sleepers and	25 MT	Rs 250/MT		Rs 6250.00
08	Overhauling and greesing of Rails joint and changing of fish plates, bolts & nts.	200Nos	Rs 45/each		Rs 9000.00

Total Rs 369656.25

 $\ensuremath{\sc Nine}$ thousand Six Hundred fifty Six and twenty five paisa) only

BHARAT COKING COAL LIMITED (A SUBSIDIARRY OF COAL INDIA LIMITED) <u>SUDAMDIH COAL WASHRERY.</u>

Departmental estimate

Estimate for the work : . Raising of One Side Wall at Road Side Drain along Washery Boundary at SCW

Sl. No	Description of work	Unit	Qty.	Rate	Amount
<u>01</u>	E/Work in Excavation	M3	28	103.40	Rs 2895.20 2.8.1
02	PCC(1.4.8) in Foundationr & pintl	h M3	6.11	2296.15	Rs 14029.47 4.1.9
03	50 B/W (1.6) Cm in Foundation	M3	87	2011.75	Rs 175022.25 6.1.2
04	& plinth PCC (1.2.4) on Top	M3	4.38	3194.10	Rs 13990.15 4.1.4
05	12 mm Cement plaster(1.6)	M2	300	67.65	Rs 20295.00 13.1.2
06	Colour washing new surface area	M2	300	9.30	Rs 2790.00 13.39.1
				TOTAL	Rs 229022.07

Rs (Two Lakhs Twenty Nine thousand twenty two and seven paisa only.)